

①

$$\begin{array}{r} 13 \\ 38 \overline{)494} \\ \underline{38} \\ 114 \\ \underline{114} \\ 0 \end{array}$$

②

$$\begin{array}{r} 29 \\ 22 \overline{)638} \\ \underline{44} \\ 198 \\ \underline{198} \\ 0 \end{array}$$

③

$$\begin{array}{r} 31 \\ 13 \overline{)403} \\ \underline{39} \\ 13 \\ \underline{13} \\ 0 \end{array}$$

④

$$\begin{array}{r} 41 \\ 11 \overline{)451} \\ \underline{44} \\ 11 \\ \underline{11} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 68 \\ 13 \overline{)884} \\ \underline{78} \\ 104 \\ \underline{104} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 24 \\ 20 \overline{)480} \\ \underline{40} \\ 80 \\ \underline{80} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 71 \\ 12 \overline{)852} \\ \underline{84} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 31 \\ 26 \overline{)806} \\ \underline{78} \\ 26 \\ \underline{26} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 14 \\ 28 \overline{)392} \\ \underline{28} \\ 112 \\ \underline{112} \\ 0 \end{array}$$

①

$$\begin{array}{r} 21 \\ 15 \overline{) 315} \\ \underline{30} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

②

$$\begin{array}{r} 17 \\ 31 \overline{) 527} \\ \underline{31} \\ 217 \\ \underline{217} \\ 0 \end{array}$$

③

$$\begin{array}{r} 23 \\ 43 \overline{) 989} \\ \underline{86} \\ 129 \\ \underline{129} \\ 0 \end{array}$$

④

$$\begin{array}{r} 29 \\ 12 \overline{) 348} \\ \underline{24} \\ 108 \\ \underline{108} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 18 \\ 11 \overline{) 198} \\ \underline{11} \\ 88 \\ \underline{88} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 12 \\ 38 \overline{) 456} \\ \underline{38} \\ 76 \\ \underline{76} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 39 \\ 14 \overline{) 546} \\ \underline{42} \\ 126 \\ \underline{126} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 22 \\ 16 \overline{) 352} \\ \underline{32} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 53 \\ 14 \overline{) 742} \\ \underline{70} \\ 42 \\ \underline{42} \\ 0 \end{array}$$

①

$$\begin{array}{r} 41 \\ 16 \overline{) 656} \\ \underline{64} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

②

$$\begin{array}{r} 44 \\ 15 \overline{) 660} \\ \underline{60} \\ 60 \\ \underline{60} \\ 0 \end{array}$$

③

$$\begin{array}{r} 19 \\ 30 \overline{) 570} \\ \underline{30} \\ 270 \\ \underline{270} \\ 0 \end{array}$$

④

$$\begin{array}{r} 66 \\ 12 \overline{) 792} \\ \underline{72} \\ 72 \\ \underline{72} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 32 \\ 22 \overline{) 704} \\ \underline{66} \\ 44 \\ \underline{44} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 41 \\ 18 \overline{) 738} \\ \underline{72} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 31 \\ 18 \overline{) 558} \\ \underline{54} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 15 \\ 46 \overline{) 690} \\ \underline{46} \\ 230 \\ \underline{230} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 32 \\ 11 \overline{) 352} \\ \underline{33} \\ 22 \\ \underline{22} \\ 0 \end{array}$$

①

$$\begin{array}{r} 32 \\ 12 \overline{) 384} \\ \underline{36} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

②

$$\begin{array}{r} 41 \\ 13 \overline{) 533} \\ \underline{52} \\ 13 \\ \underline{13} \\ 0 \end{array}$$

③

$$\begin{array}{r} 59 \\ 16 \overline{) 944} \\ \underline{80} \\ 144 \\ \underline{144} \\ 0 \end{array}$$

④

$$\begin{array}{r} 11 \\ 30 \overline{) 330} \\ \underline{30} \\ 30 \\ \underline{30} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 21 \\ 16 \overline{) 336} \\ \underline{32} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 49 \\ 17 \overline{) 833} \\ \underline{68} \\ 153 \\ \underline{153} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 44 \\ 19 \overline{) 836} \\ \underline{76} \\ 76 \\ \underline{76} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 35 \\ 13 \overline{) 455} \\ \underline{39} \\ 65 \\ \underline{65} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 27 \\ 17 \overline{) 459} \\ \underline{34} \\ 119 \\ \underline{119} \\ 0 \end{array}$$

①

$$\begin{array}{r} 72 \\ 11 \overline{) 792} \\ \underline{77} \\ 22 \\ \underline{22} \\ 0 \end{array}$$

②

$$\begin{array}{r} 21 \\ 44 \overline{) 924} \\ \underline{88} \\ 44 \\ \underline{44} \\ 0 \end{array}$$

③

$$\begin{array}{r} 15 \\ 16 \overline{) 240} \\ \underline{16} \\ 80 \\ \underline{80} \\ 0 \end{array}$$

④

$$\begin{array}{r} 14 \\ 20 \overline{) 280} \\ \underline{20} \\ 80 \\ \underline{80} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 18 \\ 36 \overline{) 648} \\ \underline{36} \\ 288 \\ \underline{288} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 42 \\ 19 \overline{) 798} \\ \underline{76} \\ 38 \\ \underline{38} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 15 \\ 23 \overline{) 345} \\ \underline{23} \\ 115 \\ \underline{115} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 17 \\ 13 \overline{) 221} \\ \underline{13} \\ 91 \\ \underline{91} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 22 \\ 31 \overline{) 682} \\ \underline{62} \\ 62 \\ \underline{62} \\ 0 \end{array}$$

①

$$\begin{array}{r} 12 \\ 24 \overline{) 288} \\ \underline{24} \\ 48 \\ \underline{48} \\ 0 \end{array}$$

②

$$\begin{array}{r} 13 \\ 46 \overline{) 598} \\ \underline{46} \\ 138 \\ \underline{138} \\ 0 \end{array}$$

③

$$\begin{array}{r} 22 \\ 26 \overline{) 572} \\ \underline{52} \\ 52 \\ \underline{52} \\ 0 \end{array}$$

④

$$\begin{array}{r} 13 \\ 22 \overline{) 286} \\ \underline{22} \\ 66 \\ \underline{66} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 11 \\ 41 \overline{) 451} \\ \underline{41} \\ 41 \\ \underline{41} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 12 \\ 16 \overline{) 192} \\ \underline{16} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 24 \\ 15 \overline{) 360} \\ \underline{30} \\ 60 \\ \underline{60} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 19 \\ 15 \overline{) 285} \\ \underline{15} \\ 135 \\ \underline{135} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 45 \\ 12 \overline{) 540} \\ \underline{48} \\ 60 \\ \underline{60} \\ 0 \end{array}$$

①

$$\begin{array}{r} 29 \\ 15 \overline{)435} \\ \underline{30} \\ 135 \\ \underline{135} \\ 0 \end{array}$$

②

$$\begin{array}{r} 42 \\ 16 \overline{)672} \\ \underline{64} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

③

$$\begin{array}{r} 14 \\ 26 \overline{)364} \\ \underline{26} \\ 104 \\ \underline{104} \\ 0 \end{array}$$

④

$$\begin{array}{r} 11 \\ 11 \overline{)121} \\ \underline{11} \\ 11 \\ \underline{11} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 26 \\ 36 \overline{)936} \\ \underline{72} \\ 216 \\ \underline{216} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 15 \\ 17 \overline{)255} \\ \underline{17} \\ 85 \\ \underline{85} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 33 \\ 29 \overline{)957} \\ \underline{87} \\ 87 \\ \underline{87} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 12 \\ 18 \overline{)216} \\ \underline{18} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 26 \\ 35 \overline{)910} \\ \underline{70} \\ 210 \\ \underline{210} \\ 0 \end{array}$$

①

$$\begin{array}{r} 11 \\ 22 \overline{) 242} \\ \underline{22} \\ 22 \\ \underline{22} \\ 0 \end{array}$$

②

$$\begin{array}{r} 32 \\ 15 \overline{) 480} \\ \underline{45} \\ 30 \\ \underline{30} \\ 0 \end{array}$$

③

$$\begin{array}{r} 31 \\ 28 \overline{) 868} \\ \underline{84} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

④

$$\begin{array}{r} 32 \\ 14 \overline{) 448} \\ \underline{42} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 11 \\ 44 \overline{) 484} \\ \underline{44} \\ 44 \\ \underline{44} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 24 \\ 27 \overline{) 648} \\ \underline{54} \\ 108 \\ \underline{108} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 33 \\ 26 \overline{) 858} \\ \underline{78} \\ 78 \\ \underline{78} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 13 \\ 40 \overline{) 520} \\ \underline{40} \\ 120 \\ \underline{120} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 13 \\ 25 \overline{) 325} \\ \underline{25} \\ 75 \\ \underline{75} \\ 0 \end{array}$$

①

$$\begin{array}{r} 25 \\ 27 \overline{) 675} \\ \underline{54} \\ 135 \\ \underline{135} \\ 0 \end{array}$$

②

$$\begin{array}{r} 51 \\ 18 \overline{) 918} \\ \underline{90} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

③

$$\begin{array}{r} 71 \\ 11 \overline{) 781} \\ \underline{77} \\ 11 \\ \underline{11} \\ 0 \end{array}$$

④

$$\begin{array}{r} 39 \\ 15 \overline{) 585} \\ \underline{45} \\ 135 \\ \underline{135} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 23 \\ 38 \overline{) 874} \\ \underline{76} \\ 114 \\ \underline{114} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 14 \\ 12 \overline{) 168} \\ \underline{12} \\ 48 \\ \underline{48} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 19 \\ 28 \overline{) 532} \\ \underline{28} \\ 252 \\ \underline{252} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 16 \\ 48 \overline{) 768} \\ \underline{48} \\ 288 \\ \underline{288} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 46 \\ 14 \overline{) 644} \\ \underline{56} \\ 84 \\ \underline{84} \\ 0 \end{array}$$

①

$$\begin{array}{r} 54 \\ 12 \overline{) 648} \\ \underline{60} \\ 48 \\ \underline{48} \\ 0 \end{array}$$

②

$$\begin{array}{r} 16 \\ 25 \overline{) 400} \\ \underline{25} \\ 150 \\ \underline{150} \\ 0 \end{array}$$

③

$$\begin{array}{r} 38 \\ 13 \overline{) 494} \\ \underline{39} \\ 104 \\ \underline{104} \\ 0 \end{array}$$

④

$$\begin{array}{r} 39 \\ 12 \overline{) 468} \\ \underline{36} \\ 108 \\ \underline{108} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 55 \\ 17 \overline{) 935} \\ \underline{85} \\ 85 \\ \underline{85} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 19 \\ 42 \overline{) 798} \\ \underline{42} \\ 378 \\ \underline{378} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 13 \\ 48 \overline{) 624} \\ \underline{48} \\ 144 \\ \underline{144} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 17 \\ 15 \overline{) 255} \\ \underline{15} \\ 105 \\ \underline{105} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 12 \\ 37 \overline{) 444} \\ \underline{37} \\ 74 \\ \underline{74} \\ 0 \end{array}$$